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1-The true gypsies are wandering people in suburban areas. Bands ofthem are found through
almost every country of the world. The word THEM refers to ................

1. gypsies 2. people 3. areas 4. wandering

2-Children in many schools of states learn how to adjust their own behaviors tothose of others.
The word THOSE refers ...........
1. children 2. schools 3. states 4. behaviors

3-A number of people live in the Arctic with cozy houses surrounded by glaciers. They come from a
variety of backgrounds but all adopted to the land in similar ways. The pronoun THEY refers to

1. people 2. the arctic 3. houses 4. glaciers
4-Today black workers are ................. for the work they do and are killed by .................... weapons in
the USA. They are under................
1. underpaid-sophisticated-pressure 2. relaxed-pressure-paid
3. recommend-hard-paid 4. sophisticated-pressure-paid
5-The e for silent reading increases as children grow older. This type of reading is a two-
(=] « O which involves the ..................... and interpretation of painted words.
1. need-process-recognition 2. idea-process-recognition
3. need- activity-writing 4. speed-process-need
6-Lungs are made .......ccccceeereereeennn. tiny air sacs joined by little tubes.
1. with 2. at 3 in 4. of

7-Complete the statement with the appropriate category of words.

.......................... of fresh water have troubled man throughout history. Many people do not have
enough water to ................ their needs.
1. extension-drink 2. shortage-meet
3. lack-drink 4. production-make
8-They decorated the walls and domes ........cccceveerererreenn. highly colored mosaic and tile designs.
1. at 2. from 3. with 4. for
9-The ability to read rapidly for meaning is an important factor in the .................... of learning.
1. rate 2. jnstance 3. step 4. shape
10-Psychologists want to know why some people are ............. but others are talkative.
1. impressive 2. fugitive 3. shy 4. relative
1010/101041177

§ ) A e | FAF 1) J g i) e
WWW.UNIP.IR aolideuly of yoi 4 503 g W g 4l ged (P WT 0lKiig g3 o33 3 pie


http://pnuna.com
http://pnuna.com
http://unip.ir

\YRE/14/YF ki 5 15 by stmiata N
1¥iee i g Gyl j-—Da

TP (Yo 3 el 2 (4059) g0 3T oy CI T (e e 2 OY g Sl

) pedlio 5509 (yilas 8 g g0 o‘s—iﬁ

WY Do F sl Loty U5« — VIV FD Sl (5 oo yin 2 i y® W/ Suiadnd i

11-Water keeps .............. in and out of fresh-water lakes all time.

1. running 2. hiking 3. happening 4. jumping
12-Women are usually .......ccceeueereeneenee. in a low-paid job.

1. employed 2. subjected 3. earned 4. addicted
13-Most women in Africa are Not .....cccceeeereeecrcciccsnennnnes for a career.

1. aware 2. informed 3. offered 4. educated
14-Research done by psychiatrists stresses personality differences resulting fro ..............cc............

experiences in childhood or later.

1. resulted 2. results 3. resulting 4. result
15-Paintings and drawings were the first ..........ceeereereennn. toward a written language.

1. introductions 2. subjects 3. paces 4. steps
16-Real.....ccceererrenene is more valuable than money.

1. state 2. average 3. friendship 4. childish
17-LaW.ueereeceeeereeee officials estimate that the families take in about $ 50 billion a year from criminal

activities.

1. introduction 2. enforcement 3. production 4. reinforcement
18-Driving without a driver’s license is .......cccccceveererniecneenes

1. unwilling 2. poisonous 3 jllegal 4. disfavor
19-The strength of an earthquake is.......c.cc.ecuruenee. on the scale of numbers called Richter scale.

1. arranged 2. measured 3. shaken 4. taken
20-Many people .......ccceeuunne. that the world does not have enough water to meet man's needs.

1. trouble 2. fear 3 trap 4. grow
21-Canada's vast arctic region is extemely thinly ...........ccccuun... .

1. populated 2. population 3. populating 4. populates
22-The atomic number of an element is equal ........................ the number of protons which one of its

atoms contains.

1. at 2. through 3. for 4 to
23-POO0F...cceerrerrirencnesresnene causes backache.

1. pressure 2. emotion 3. outlook 4. posture
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24-He does not like to read famous sportsmen’..........ccceceerevrunne .

1. childhood 2. kinship 3. respect 4. biography

25-Geyser is a spring that....................... hot water with explosive force.

1. brings 2. goes off 3. erupts 4. develops
26-John had a bad............... with a mad dog.
1. bandage 2. foolish 3. experience 4. variety

27+ ..eervereereennennaiS the scientific study of the nature of man.

1. ethnography 2. anthropology 3. archeology 4. biology
28-Choose the most appropriate word for the following sentences.

Pizza has become a(n).......cocceeveencn. dish.

1. extensive 2. international 3. interactional 4. corrective

Reading comprehension 1:

One of the most important things to understand about our system is that it is based on the conviction
that the spinal column is the life line of our body structure, upon which our mental and physical state of
well-being depends. The stronger the backbone, the firmer the muscle tone surrounding the lower back,
and the more perfectly the spinal column is alighed, the healthier we are. Therefore, we are more able
to function normally and efficiently in all our daily activities, whether we work, swim, play tennis, golf,
ski o walk. A weak and underdeveloped spine creates bad posture and the entire body acts like a
“broken-down machine” ready to fall apart. All the important parts of the body, bone, muscles, joints,
nerves, and all vital organs, are cramped into inactivity and become sluggish and practically lifeless. Is
there any wonder that backaches are so prevalent? Conversely, a healthy, strong and well-developed
spine creates good posture and makes one feel alive, alert, and full of energy and youthful vitality.
Because the spinal column is so instrumental in the achievement of good health and perfect posture, it
is important that you understand first its basic structure before you learn about the inherent
weaknesses that cause back problems.

29-According to the writer’s opinion, before learning about backbone problems we should

1. develop youthful vitality 2. keep good posture
3. |earn about its structure 4. defeat its weaknesses
30-According to the passage .........ccoeeeue.

1. many people suffer from backache.
2. active people will suffer from backache.
3. all people are careful about their backache.

4. backaches are very rare these days.
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31-Which of the following has NOT been mentioned as characteristic of a person with a healthy
spine?

1. alert 2. lively 3. sluggish 4. energetic

32-Which of the following has NOT been mentioned to have a role in our good health?

1. a strong backbone 2. an underdeveloped spine
3. an aligned spinal column 4. firm muscles
33-The word instrumental in the passage may mean ......cccecevuvrueane.
1. having the shape of a tool 2. healthy and vital
3. modern in design 4. necessary for a goal
34-The body may act like a broken machine when ............cccceevevrevvenennee
1. the spine is underdeveloped. 2. vital organs become interactive.
3. the bones and muscles fall apart. 4. joints are broken and separated.
35-What is referred to as the lifeline of the body?
1. spinal column 2. physical state
3. body structure 4. blood circulation

Reading comprehension 2:

Feeling tired, nervous, and uptight? Take a deep breath. It is one of the most relaxing and energizing things you
can do. Try taking a deep breath right now. Breathing is such an easy and healthful thing to do. It is distressing
that most people do not know how to do it properly. Correct deep breathing is, sad to say, a lost art, and
breathing is the basis of all normal activities for all living things; for human beings it is the most crucial. It affects
our state of health, our mental condition, our very lifespan. Primitive man did not have to learn the art of correct
breathing. His lifestyle assured it. Fresh air, physical activities and the efforts made for survival made them good
breather. However, civilized people suffer from anxiety as they have forgotten how to breathe correctly.

36-Primitive man did not have to learn the art of correct breathing. The word primitive may

1. difficult and hardworking 2. free and educated
3. uneducated and hardworking 4. old and simple
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37-Primitive people .....crireeeecennen.
1. learned how to breathe correctly.
2. were aware of correct breathing role.
3. could breathe deeply because of their lifestyles.

4. could do physical activities as much as todays people do.

38-1It is distressing that most people do not know how to do it properly. The underlined word may
(11111 | JOO .

1. happy 2. worrying 3. attractive 4. enjoyable

39-Most people do not breathe well because ........................
1. They have lost their old habits of natural life.
2. There is no role for breathing in modern life.
3. They are not educated.

4. They are not aware of their problems.

40-We can understand from the passage that we can reduce our anxiety if we .............
1. do sports 2. preathe better
3. do physical activities 4. eat natural food

41-The word survival in the passage means ...........ccceceeeerencucn
1. staying alive 2. having control 3. good studying 4. working hard

42-What is the main point of the passage?

1. Breathing may make people tired. 2. When we breathe, we get anxious.
3. We should breathe all the time. 4. Itis important to breathe correctly.
43-According to the passage, deep breathing ..................
1. increases our energy. 2. spreads our thought.
3. makes us nervous. 4. brings us toxic substances.
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Reading comprehension 3:

People commit crimes for various reasons. Stealing for buying drugs is one example and shoplifting for
excitement are two common examples. However, others do so to stretch the family budget. Many
automobile thieves take cars for joy riding, but others strip down the stolen auto and sell them. Many
embezzlers take money from their employers to meet a personal emergency. The motives also vary in
crimes of violence. A robber may kill his victim to avoid detection. Some gangsters torture people to
obtain money.

44-A robber may kill his victim because he does not like to......c.ccccereereeunene
1. share money 2. find a partner 3. see detectors 4. be recognized
45-We understand from the passage that ........c.cccecercercennen.

1. drug addicts are the most dangerous criminals.
2. there are many criminals in the world.
3. detectors may kill robbers.

4. there are many reasons why a person commits a crime.

46-The word ‘ vary’ in the passage may mean..................

1. differ 2. carry 3. know 4. observe

47-The word "'motive’ in the passage may mean...................

1. factor 2. motivation 3. excitement 4. punishment

48- Which of the following is NOT considered crime?
1. torturing people 2. robbery 3. joy riding 4. buying drugs

49-This passage is mainly about ..........c.cceue.ee

1. why people steal money 2. how people steal money

3. why people commit crimes 4. why people love money
50-According to the passage, shoplifters ..........c.ccceeueneene

1. spend money for other crimes 2. hide money

3. |ove money 4. may not need money
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